Simplifying Expressions

Simplify each expression.

3
olutl—1—1—y+2 408
ay

. —91z—2z-43491z—1+1+4+1-50

by by +14+63—26+86b>+6Tv—vz

576acvx
" 18cv

+73x-x—83—a-(—94c)-av
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.92v2+1+v—1+vz+2—vv+1
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Simplifying Expressions Answers

Simplify each expression.

3
6lutl—1—1—y+2 108

ay
=2+ 6lu—y+27

. —91z—7z—43491z—14+1+4+1-50
=—7—92

bv+bv+14+63—26+86b>+6Tv—v7
= 2bv + 86b> — vz + 67y + 38

576
. acvx+73x-x—83—a-(—94c)-av
18¢cv

= 94a’cv + 32ax + 73x> — 83
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O 1 v—1 vzt

2v
=93V +vz+v+1
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